Table S2 Means * standard deviation for the data shown in figure 3 as dot plots with means only

Fig. 3a: Al,. RSV pA-cm’ Fig. 3b: Al glucose pA-cm’

ctrl/CI’ 7.29+11.81 ctrl/Cl 162.6 +118.7
RSV/CI 30.49 £32.36 RSV/CI 62.67 £57.18
ctrl/Cl free 1.63+1.10 ctrl/Cl free 94.46 + 63.36
RSV/CI free 0.68 +0.99 RSV/CI free 56.33+35.44
Fig. 3c: Al Carbachol 1 pA-cm’ Fig. 3d: Al . Carbachol 2 pA-cm’

ctrl/Cl 63.62 +£37.48 ctrl/Cl 58.03 £ 35.45
RSV/CI 32.86 +£11.97 RSV/CI 21.96 +£15.13
ctrl/Cl free 6.29 £6.19 ctrl/Cl free 35.89 +27.29
RSV/CI free 5.43+3.74 RSV/CI free 10.64 £7.79




